SWITCHES

GG Elfl]lllllHIBS Sw I TC H E S

v o s

b\

Retail

Poles/ | AMPS | AMPS | HP 125-|Actuator|Actua Bushing ountin
Part No.

VA VAC| 250VAC| Style |Mater Length Hole

()

rdware

Z

35-078 1 N, KN

35-143 | 35-143-BU 2 On Off On| 4PDT 15 10 3/4 Bat Metal 0.465 0.500 Screw N, FN, Sc 251-B
35-145 | 35-145-BU | 2 On Off | 4PST| 15 10 3/4 Bat Metal | 0.465 0.500 Screw N, FN, Sc 251-B
35-3080 | 35-3080-BU | 2 On On | 4PDT 15 10 3/4 Bat Metal 0.465 0.500 Screw N, FN, Sc 251-B
35-3135 | 35-3135-BU | 3 ** 10n Off 1 15 10 1/2 Bat Brass 0.468 0.500 Screw N, FN, Sc 251-C
35-126 | 35-126-BU 4 |On Off | DPST 16 8 1 Bat Metal 0.465 0.500 Screw N, FN 251-D
35-3070 | 35-3070-BU | 4  On Off | SPST 16 8 1-1/2 Bat Metal 0.465 0.500 Screw N, Sc 251-E
35-139 [35-139-BU | 5 |On Off | 3PST| 17 12 1-1/2 Bat | Metal | 0.465 0.500 Screw N, FN, Sc 251-F
35-140 | 35-140-BU | 5 |On Off On| 3PDT 17 12 1-1/2 Bat Metal | 0.465 0.500 Screw N, FN, Sc 251-F
35-141 | 35-141-BU 5 On On | 3PDT 17 12 1-1/2 Bat Metal 0.465 0.500 Screw N, FN, Sc 251-F
35-080 | 35-080-BU 6 On Off | SPST 20 10* 3/4 Bat Metal 0.470 0.500 Screw N, KN, Sc, ID 251-G
35-110 | 35-110-BU 6 |On Off On| SPDT 20 10* 3/4 Bat Metal 0.470 0.500 Screw N, KN, Sc 251-H
35-130 | 35-130-BU | 6 On On | SPDT| 20 10* 3/4 Bat Metal | 0.470 0.500 Screw N, KN, Sc 251-H
35-144 | 35-144-BU 7 1On On | DPDT| 20 10* 1-1/2 Bat Metal 0.465 0.500 Solder N, KN 251-1
35-146 | 35-146-BU 6 On On | DPDT,| 20 10* 1-1/2 Bat Metal 0.470 0.500 Screw N, KN, Sc 251-l
35-148 | 35-148-BU 6 |On Off On| DPDT| 20 10* 1-1/2 Bat Metal 0.470 0.500 Screw N, KN, Sc 251-1
35-149 | 35-149-BU 7 |On Off On| DPDT| 20 10 3/4 Bat Metal 0.465 0.500 Solder N, KN 251-1
35-150 | 35-150-BU 6 (On) Off (On)| DPDT| 20 10* 1-1/2 Bat Metal 0.470 0.500 Screw N, KN, Sc 251-1
35-151 | 35-151-BU 6 |On Off (On) DPDT, 20 10* 1-1/2 Bat Metal 0.470 0.500 Screw N, KN, Sc 251-I
35-153 | 35-153-BU 8 |On Off (On)| SPDT 20 10* 3/4 Bat Metal 0.470 0.500 Screw N, KN, Sc 251-H
35-155 | 35-155-BU | 8 (On) Off (On). SPDT| 20 10* 3/4 Bat Brass 0.325 0.500 Screw N, KN, Sc 251-H
35-185 | 35-185-BU 3 On Off | DPST 20 10* 1-1/2 Bat Metal 0.465 0.500 QC .250” N, KN 251-)
35-3005 | 35-3005-BU | 9 | On Off | SpST 20 10 3/4 Bat Brass 0.325 0.500 QC .250” N, KN 251-K
35-3010 | 35-3010-BU | 9 |On On | SPDT| 20 10 3/4 Bat Brass 0.325 0.500 | QC .250” N, KN 251-K
35-3015 | 35-3015-BU | 9  On Off On| SPDT 20 10 3/4 Bat Brass 0.325 0.500 QC .250” N, KN 251-K
35-3020 | 35-3020-BU | 7 On On | DPDT 20 10* 1-1/2 Bat Brass 0.468 0.500 QC .250” N, KN 251-L
35-3025 | 35-3025-BU | 7 On Off On | DPDT 20 10* 3/4 Bat Brass 0.468 0.500 QC .250” N, KN 251-L
35-3045 | 35-3045-BU | 10| On Off | DPST| 20 10 3/4 Bat Brass | 0.468 0.500 | QC .250" N, KN 251-M
35-3055 | 35-3055-BU | 9 | Off (On)| SPST | 20 10 3/4 Bat Brass | 0.468 0.500 | QC .250” N, KN 251-K
35-3065 | 35-3065-BU | 3 On (Off)) DPST 20 10* 1-1/2 Bat Brass 0.468 0.500 Screw N, KN, Sc 251-N
35-3060 | 35-3060-BU | 3 On Off | DPST| 20 10* 1-172 Bat Brass 0.468 0.500 Screw N, KN, Sc 251-N
35-3075 | 35-3075-BU | 11 |On Off | DPST 20 10 1-1/2 Bat Brass 0.465 0.500 Screw N, Sc 251-E
35-3170 | 35-3170-BU | 12 On Off | SPST | *** s 1/2 Bat Brass 0.500 0.438 Screw KN, Sc 251-0
Notes: (On)/(Off)=Momentary On/Off ID=ID Plate

*Rated @ 277VAC KN=Knurled Nut

**1&2 On N=Nut

*#*Rated 35A @ 6VDC/20A @ 12VDC QC=Quick Connect

FN=Face Nut Sc=Screw

t=Progressive Two Circuit
Note: All figures are for illustration purpose only, and the number/type of terminals may vary.

288 Phone (815) 968-9661¢Fax (815) 968-9731

All quantities are single; BU’s are packages of 10 Unless otherwise noted.



SWI TC H E S G(:Euumumns

L e DY OGRS (Cont)

B 35-143 & 35-3080 C

KEYWAY OB0- 085 W X 040- 047 D
T 1102 {178

203 28

|

e F
& .o8a .840,
m“‘f‘ SLOT FEEW ¢ a:‘»-_fn
sz I5/32-32THD .

w2 Ty TEE19.43] ‘
- 132
(3831

I

le— zoomsa s —a]  he——t— 1000125501 - 353075
bai— 1750(44.45] —]  m———aed— B36{21,23] - 35-3070

—] ez 57 fed
] B2 70 D
MOUNTING HOLE  WITH KETWAY TERMINAL
H HEX NUT ASSY I
. KNURL NUT ASSY
(18

1126
(26.6)

—

7]
] X 2HcsUNC B7)
35 Terminals —

(85 for 35-146, 35-148, 35-150, 35-151

WX LT A L
I_ Ko bUT e T g
= s

A=

Toggle
for 35-3025

1 KIURL HUT ASSY 107, |

M N b
THEXNUT ASSY 1 P‘
487 G.C. T A

SIHDLIMS

N OITE 3¢ rERM.

8-32 Brass
Phillips Slotted

For the latest information-www.gcelectronics.com 289

All quantities are single; BU’s are packages of 10 Unless otherwise noted.




